ACCOUNTANCY AND BUSINESS STATISTICS
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Name any four methods of costing,.
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What is meant by Re-order level? Give formula,
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Mention formula to calculate bonus hours in Rowan
Bonus Scheme.
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What do you mean by absorption or recovery of
overheads?
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What is the difference between cost of production ang
the production cost of goods sold?
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What is meant by retention money in contract costing?
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What is meant by abnormal effectiveg?
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What is meant by Ideal Standards?
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Give formula for marginal equation.
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From the following particulars calculate Economic Order
Quantity (EOQ) and no. of orders for the year 2013-14:
10,000 units of a particular material are consumed per

year.
Per unit cost Rs. 20. _
Cost of processing an order Rs. 50.

Annual interest rate 5%
Annual carrying cost of material per unit 15% (other

than interest) _
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per unit is Rs. 20 and profit is Rs. 20,000, Ca
amount of fixed and variable overheads,
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(iv) A hotel having 100 rooms of which 80% are normally
occupied in summer and 25% in winter. Period of
summer and winter will be taken as 6 months each and
normal days in a month be assumed to be 30. Calculate
. total occupied room days.
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(v) Fixed expenses is Rs. 90,000, sales is Rs. 3,00,000 and
profit is Rs. 60,000. Calculate P/V ratio.
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DESCRIPTIVE PART-II
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3. Oil India is a bulk distributor of High Octane Spirit, At

the end of each month, spirit inventory in hand is
measured and books are closed. Following summarised
information are available for January, 2014;
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Purchases  Litres Rate (rs.) Freight per litre (1s)
1 January 20,000 2.60 . 0.25
31 January 10,000 2.75 0.28

Opening stock : 10,000 litres @ 3.0 including freight
on 1st January. Closing stoc}c 13,000 litres on 31st January:
Sales Rs. 94,500; Gen. Administration Expenses Rs. 2,500. You
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Machine Expenseg

Labour
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pirect Expenses 11,000 ’ 25,000

Normal Wastage 5% T0% 4,600
srap value per unit  Rg 1 g9 2.00 %
Actual output (units), - 2.50
Prepare .
and the cost per unit at eq Ing the cost of output
Normal Wastage Account.
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Giving your views regarding ging -

profit on incomplete contract, explain the methods of
charging profit of incomplete contract.
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Calculate material variance from the following details
available for a particular period ;

justification in char



Standard Actual for 10 mixeg
Material X40 kg @ Rs. 6 Material X g g @,
Material Y 60 kg @ Rs. 4 Material y 409 ke @ Ra}
Loss 20% Loss 30% o
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Following figures relate to Rajkot Mills Limiteq for ty
year 2013-14; _
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Fixed Factory overheads ] © 4,00,000 !
Fixed selling and distribution overheads 2,00,000
Variable cost Per unit

12
Selling price per unit 20
Calculate: ' Y
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Units to be sold to earn a target net incom_'b' of Rs, 5,000

down by 15,000 units,

Selling price to earn a Profit of 20% on sales by selling
only 50,000 units. :

9 for=e farg oy | | -
Fﬁsémuﬁ%ﬂz_mmﬁ%gmaﬁﬁﬁaﬁmﬂ
wmzsmﬂm%ﬁﬁaﬁwﬁmﬂﬁml "
mﬁ@aﬁ@aﬁw,ﬂmmﬁﬁmmﬁ!ﬁrmﬁﬁ
T . i
50,000 T 99 R 20 e v e g



